PHYS 201        HWK #10             Name:_______________________________

A. Centripetal force is the force required for a uniform circular motion. Write down an expression for the magnitude of the centripetal force, Fc in terms of the mass and speed of the object and the radius of the circular path.  

 

 

B. A “swing” ride at a carnival consists of chairs that are swung in a circle by 15.0-m cables attached to a vertical rotating pole, as the drawing shows. Suppose the total mass of a chair and its occupant is m (= 179 kg) and the tension in the main cable is T.  


1. Considering the chair and its occupant as the object of interest, show all the forces acting on it, in the diagram. 

2. Resolve the tension into horizontal and vertical components, in the diagram.   

3. Determine the tension in the main cable attached to the chair.
 

 

 

 

4. Find the speed of the chair.

 

